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Legend has it that the ancient citizens of Delos were faced with a plague. In
order to remedy the situation, they sent a delegation to the oracle of Apollo at
Delphi. This delegation was told to double the volume of the cubical altar.
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Greek used straight-edge and compass, and they failed
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A line parallel to a given line r through any point P.

(L2) fold the perpendicular bisector of the segment CP



A line parallel to a given line r through any point P.

(L4) reflect the line r via the new line b.
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(P, L) is an origami pair if P is a set of points and £ is a set of lines in R?

satisfying:

(1) Any two non-parallel lines in £ intersect in a point of P.

(2) Any two distinct points in P the line passing through them is in L.

(3) Any two distinct points in P the perpendicular bisector of the line segment
characterized the points is in L.

(4) Any two lines in L the line equidistant from both of them is in L.

(5) Any two lines in £ the mirror reflection with respect one line is in L.

Definition (Constructible points)

The set of origami constructible points is the smallest subset of R? containing
the points (0,0) and (1,0) that is closed under origami constructions.
Po=n{P | (0,0),(1,0) € PA P is closed under origami construction}

Definition (Origami numbers)

The set of origami numbers is:
Fo = {Ol cR | Hvl, v € P, |Oé| = diSt(Vl, Vz)}.
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(x,¥) € Po <= x and y € Fo
Points can be added in four different ways:
Using (L1) — —(L4) moves.

> (31732) = (07 0)
> (b17 b2) = (170)

cotf = and cscd =, /1+(2)?
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Theorem
The set of origami numbers Fy is the smallest sub-field of R closed under

operation x — \/1 + x2.
What about /2?7
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Centro diffusione origami:http://www.origami-cdo.it
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An artist Robert J. Lang: www.langorigami.com

» Me amorvincomni@gmail.com: | have a dropbox folder and
under request | will share it.
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